OKAN UNIVERSITESI
MUHENDISLIK-MIMARLIK FAKULTESI
MUHENDISLIK TEMEL BILIMLERI BOLUMU

2014-15

MAT233 Matematik III — Odev 4 N. Course

SON TESLIM TARIHI: Carsamba 12 Kasim 2014 saat 10:00’e kadar.
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Egzersiz 9 (Areas in Polar Coordinates). [50p] Find the area of the region enclosed by both the
polar curve r = 2(1 + cos ) and the polar curve r = 2(1 — cos 9).

Egzersiz 10 (Lengths in Polar Coordinates). [50p] Find the length of the polar curve
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(i) (1’1)7 (ii) (170)7 (iii) (010)’ (iv) (71771% (v) (%’7%)’ (Vi) (3, 4)~

(a) Since 1+ 2sin(—0) =1 —2sinf # r and 1+ 2sin(m — ) = 1 4 2sinf # —r, the graph is not symmetrical about
the z-axis. Since 1 4 2sin(m — 0) = 1 + 2sinf = r, the graph is symmetrical about the y-axis. Therefore it is not
symmetrical about the origin.

(b)




